127 —S()— T8

A)—7J
| EW BR|EAF M| SEEAR | B | M RS | TR ES ] IR
P 253 3(—)2 3(—)0 3(—)2 3(—)1 )
I 3(—)2 3 3(—)1 3(—)1 3(—)2 1
P 23 3(—)1 3(—)0 23 3(—)1 .
PR 0.3 3 0.3 0.3 3 s
P 23 3 3(—)2 3(—)0 3(—)0 3
J— 1;3 2;3 1;3 3(—)1 0;3 s
Bl)—7
IMROHET | B =X REFE BRI RE (KB E| REFKAE|  IRGL
MR E 1;3 3C_)1 sc—)z 351 2;3 s
WE =X 351 SC_JZ SC_JZ SC_JZ 351 1
F—— 3 23 3(—)0 3 0.3 .
MBS 23 23 0.3 3(—)1 0.3 s
<@ B 3 23 3(—)1 3 23 s
JE—— 3(—)2 1;3 3(—)0 3(—)0 3(—)2 )
cl)—7
hF EN|AH BX|GEFR E[(#@E HX|EAN HES & 2
i o 253 S S 3(—)0 .
J— 3(—)2 3(—)2 3(—)1 3(—)0 1
rE = 3C_>1 23 3C_>1 23 )
Sm ha 3C_>1 3 3 SC_JO R
= §5 0;3 0;3 sc—)z 0;3 5
DY—7
JEH R RX BEH|EE XS | BT G| G B I {5z
mh = 053 S 3(—)2 3(—)2 s
. 3(—)0 3 3(—)2 3(—)1 )
N 3(—)1 3(—)1 0.3 3(—)2 1
E 23 23 3(—)0 3 s
JEN— 2;3 1;3 2;3 3(—)1 A




aAR

B

iz

PAES

FUFAERRR

EEE S

/NI

i) FHl

/I

i H

i

-

A PABEARR

F2RAT—IU(ERIb—FATR)

(BgK)
3 1
1 3
(FRHR) - e— —
3 1
0 3
(?Elﬁj{) - —
3 2)3 1
0 3
(REIE) —— pr—
1 3
3 1
(BER) e —
3 3
2 2
(REK)
F2AT—I(TRIb—F AT
(RE2R)
3
0 3
(FALIR) e
3 0
0
(A IR) ———
2 0§3 1
3 3 0
GAIIPN)
0 3
3 1
([Al&S4E)
3

YN i3

Rk

HH

PN

Pyl

e

i

AR

(2N

BEFE

i
M

bl

=R

i

i+

i)

CoEN)

(A T)

(SZAER)

(BI%K)

(BIK)

(SZARfE)

GAPN)

(fi] 1LI%)

GAFN)

(SZAvER)



E1RT—I()—T8)

Aly—4
ERERT |4 E|LUIEET|XF & NE{SL
BEERT . . . 1
1—3 3—1 3—1
#£48 EHit ° o o 2
e 1—3 1—3 2—3
WRTEFEF ° ° ° 4
. 1-3 1-3 3—2
%ET */%E ! ! O 3
BU—4
BAREE |tHHEHERE | L EBRE| AL EFE NE{L
i : 3—1 3—-0 3-0
A #&E o o o 1
. 1—3 3—1 3—2
HMHERE ° o o 2
0—3 1—3 3—2
i EFE S ® o 3
0—3 2—3 2—3
Al &EIE ® ® ® 4
c\)—4
ERZEE |BEUFL2 |l #5085 Sl e
3—1 1—3 2—3
RE ZEE=E o ° ° 3
BEILFE ‘;3 ‘;3 350 2
3—1 3—1 3—1
m EBR o o o 1
NG B 352 0;3 1;3 4
DY)—4
BAUOHLY | ILARKIEF | 1BEH #&|£W 5 &L
3—1 3—0 3—0
BAUOMNY o o o 1
1—3 3—2 3—0
IR FRIEF ° o o 2
" 0-3 2—3 2—3
HE ° ° ° 4
= 0—3 0—3 3—2
€W FF ® ® o 3




F2RAT—IU(ERIb—FAR)

GRS (READ)

— il R R

3 3
MmEERE (BEFER) =0 BE BER
2 312 0
3 3
ST GLAnE) —— LR (SZAnfR)
1 0
3 3
[ NON/EY) ([R1E4E) piA g (RAGED)

F2RT—U(FhIb—FAH)

R ¥E (EEFER) — — R RE (R
2 3
3 0
NI FIE RBIR)  — — AR CREER)
1 143 3
3 0
NP TR ORBUELR) e— p— I R (FIREZ)
3 3
2 0

e T (PER) ——— — i ERRE (SZAnfE)



